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Deviations of track segments (from their parent
tracks) for all segments belonging to tracks
containing at least two segments. Pre-alignment
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Deviations of track segments (from their parent
tracks) for all segments belonging to tracks
containing at least two segments. Post-alignment
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Post alignment
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Pre alignment
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Pre alignment closeup

| Plate 541
0.1755X10 <
o
i P _
-0.176— 7 X
| - =~ / / :
-0.1765 = -~
A \\
. -
-0.177 E N— _
o S S
-0.1775 — e ~
e —
-0:178 - 7 T N ~
- = N
-0.1785 — / -
_0 17C f\ﬂ
0.1797 - B -
-0.1795 -
&\\\\‘\\\\‘\\\\‘\\\\‘\\\\‘\\\\JF—/\\\‘\\\\‘\\\\

-0.18
=0.1443).149.1459).146).1463.140.1 14753 148).1483). 149

T
D—

~ -

xlO1



